CHANGE ORDER SUMMARY CITY OF NORMAN CLEVELAND COUNTY, OKLAHOMA

CHANGE ORDER NO. ___2__

DATE: September 23, 2025

CONTRACT NO.: K-2324-177

SUBMITTED BY: Joseph Hill

PROJECT: 60th Avenue NE Bridge Replacement Project

CONTRACTOR: K&R Builders Inc

P.O. Box 656

Wheatland, Oklahoma 73097

Original Completion Date: February 8, 2025

Previous Completion Date: February 8, 2025 ORIGINAL CONTRACT AMOUNT \$ 2,915,109.71

(Increase) this change order <u>164 Calendar Days</u>

New Completion Date: July 22, 2025 PRESENT CONTRACT AMOUNT \$ 2,955,043.21

DESCRIPTION	INCREASE	DECREASE
Change in Pay Quantities	\$104,267.55	(\$163,823.02)

NET CHANGE -\$59.555.46

REVISED CONTRACT AMOUNT \$2,895,487.75

See Detailed Quantity Change on Page 2 of 2:

Detailed Quantity Change:

K-2324-177 60th Ave NE Bridge Replacement Change Order No. 2

ITEM	DESCRIPTION	UNIT	QUANTITY	QUANTITY	QUANTITY DECREASE	UNIT PRICE	COST	COST DECREASE
2	CISM BACKFILL	CY	305.00		-53.00	\$293.00		-\$15,529.00
12	CLASS C CONCRETE	CY	1.00		-1.00	\$2,000.00		-\$2,000.00
16	PILES, DRIVEN (HP 10 X 42)	LF	248.00		-28.67	\$13.45		-\$385.61
17	PILES, DRIVEN (HP 12 X 53)	LF	1298.00		-75.54	\$14.95		-\$1,129.32
18	PILE SPLICE, H-PILE (NON-BIDDABLE)	EA	1.00		-1.00	\$500.00		-\$500.00
22	TYPE 1-A PLAIN RIPRAP	TON	880.00		-9.91	\$74.55		-\$738.79
23	TYPE 1-A FILTER BLANKET	TON	180.00		-49.03	\$56.15		-\$2,753.03
25	6" NON-PERF. PIPE UNDERDRAIN RND.	LF	55.00	18.00		\$43.25	\$778.50	
29	UNCLASSIFIED BORROW	CY	2665.00	359.00		\$18.35	\$6,587.65	
31	TEMPORARY SILT FENCE	LF	2546.00	298.00		\$6.00	\$1,788.00	
32	TEMPORARY SEDIMENT FILTER	EA	4.00		-4.00	\$485.00		-\$1,940.00
33	TEMPORARY SILT DIKE	LF	144.00	31.00		\$18.00	\$558.00	
34	TEMPORARY ROCK FILTER DAM TYPE 3	СУ	186.00		-169.33	\$165.00		-\$27,939.45
35	TEMPORARY FIBER LOG	UF	570.00		-570.00	\$7.30		-\$4,161.00
36	EROSION CONTROL MAT TYPE 3	SY	3649.00		-3649.00	\$9.70		-\$35,395.30
37	DITCH LINER PROTECTION	LF	596.00		-596.00	\$3.65		-\$2,175.40
38	SOLID SLAB SODDING	SY	10929.00		3987.00	\$5.45		-\$21,729.15
39	SEEDING METHOD B	AC	4.60		-4.60	\$1,500.00		-\$6,900.00
40	VEGETATIVE MULCHING	AC	4.60		-4.60	\$1,500.00		-\$6,900.00
41	MOWING	AC	4.60		-4.60	\$500.00		-\$2,300.00
42	AGGREGATE BASE TYPE A	CY	786.00	9.48		\$104.00	\$985.92	
45	TACK COAT	GAL	690.00	110.00		\$2.45	\$269.50	
46	SUPERPAVE, TYPE S3(PG 64-22 OK)	TON	1307.00	50.91		\$139.00	\$7,076.49	
47	SUPERPAVE, TYPE S5(PG 64-22 OK)	TON	505.00	89.76		\$184.00	\$16,515.84	
48	CLASS C CONCRETE	CY	86.00		-25.50	\$550.00		-\$14,025.00
49	6" CONCRETE DRIVEWAY (H.E.S.)	SY	358.00		-37.17	\$103.00		-\$3,828.51
51	18" R.C. PIPE CLASS III	LF	661.00	35.00		\$106.00	\$3,710.00	
57	BEAM GUARDRAIL W-BEAM SINGLE	LF	50.00		25.00	\$36.40		-\$910.00
60	FENCE-STYLE WWF	UF	167.00		6.00	\$36.40		\$218.40
61	FENCE-STYLE SWF (5 BARBED WIRE)	LF	2030.00	156.00		\$14.55	\$2,269.80	
64	REMOVE AND RESET MAIL BOX	EA	2.00	1.00		\$365.00	\$365.00	
65	FLEXAMAT, COMPLETE IN PLACE	SY	502.00	539.72		\$97.00	\$52,352.85	
68	STABILIZED CONSTRUCTION EXIT	EA	2.00		-2.00	\$4,500.00		\$9,000.00
70	(PLIREMOVAL OF EXISTING SIGNS	EA	4.00		-4.00	\$242.50		-\$970.00
73	DELINEATORS (TYPE 2, CODE 1)	EA	8.00		-8.00	\$30.30		-\$242.40
74	TRAFFIC STRIPE (PLASTIC)(4" WIDE)	UF .	4500.00		-1222.00	\$1.25		\$1,527.50
75	TRAFFIC STRIPE (PLASTIC)(5" WIDE)	UF	2319.00		-88.00	\$2.50		\$220.00
76	TRAFFIC STRIPE (PLASTIC)(12" WIDE)	LF	526.00		-111.00	\$3.65		-\$405.15
77	TRAFFIC STRIPE (MULTI-POLY)(4" WIDE)	UF	404.00	235.00		\$6.00	\$1,410.00	
78	TRAFFIC STRIPE (MULTI-POLY)(6" WIDE)	LF	202.00	118.00		\$6.00	\$708.00	
79	TRAFFIC STRIPE (MULTI-POLY)(12" WIDE)	LF	51.00	116.00		\$12.00	\$1,392.00	
93	MOBILIZATION/DEMOBILIZATION	LSUM	1.00	0.47		\$16,000.00	\$7,500.00	
					TOTALS	1	\$104,267.55	-5163.823.0

	TOTALS	\$104,267.55 -\$163,823.02	
	DIFFERENCE	-\$59,555.46	
CONTRACTOR:	DATE	8-78-25	
ENGINEER: God for	DATE		
CITY ATTORNEY: Clis duty Cluckely	DATE	9/18/25	
ACCEPTED BY: (Mayor)	DATE		

Signatory Notarization

STATE OF Oklahoma, COUNTY OF Oklahoma SS:

Before me, the undersigned, a Notary Public in and for said Keith Rohlmeier of K&R Builders, its President, to me known to be the identical person(s) who executed the foregoing authorization to sign and acknowledged to me that they executed the same as their free and voluntary act and deed for the uses and purposes therein set forth.

WITNESS my hand and seal this 17 day of September, 20 25

My Commission Expires: 11/17/2028

Notary Public: 11/17/2020



K & R Builders, Inc.

PO Box 656 • Wheatland, OK 73097 • 405-745-4558

July 29, 2025

City of Norman 225 N. Webster Ave. Norman, OK 73069

RE: K-2425-118, E. Post Oak Bridge Replacement

Dear Mr. Brooks:

Please be advised that Sean Bailey, Travis Lloyd and myself are authorized to sign the following items for this project:

- 1. Time and Diary Reports
- 2. Estimate Reports
- 3. Change Orders
- 4. Final Estimate

Sean Bailey

General Manager

Michael Travis Lloyd

Project Manager

Sincerely,

Gary K. Rohlmeier

MWKR

President